(x% SISTEM LINEAR #%)
(* PRIMD SI STEMA )

a={{2, -1, 3, 1}, {-2, 3, -1, -2}, {3, -2, 2, -1}};
Mat ri xFor m[a]

2 -1 3 1
-2 3 -1 -2
3 -2 2 -1

al={af[[1l]1], a[[l]l]1+a[[2]], 3xa[[1l]]1-2«a[[3]1};
Mat ri xFor m[al]

2 -1 3 1
0 2 2 -1
0 1 5 5

a2 ={al[[1]], al[[2]], al[[2]1]-2=%al[[3]1]};
Mat ri xFor m[a2]
2 -1 3 1
0o 2 2 -1
0 0 -8 -11

x3=11/8
X2=(-1-2%x3)/2
X1=(1l+x2-3%x3)/2

11

Cl ear [x1, x2, x3];

aa = {{2, -1, 3}, {-2, 3, -1}, {3, -2, 2}};
X = {X1, x2, x3};

b=1{(1, -2, -1};

SyS = Dot [aa, X] ==

Sol ve[sys, X]

{2x1-x2+3x%x3, -2x1+3%x2-x3, 3x1-2x2+2x3} = {1, -2, -1}

Hxlefg, x2971875, xS»la—lH

(* ALTRO ESEMPI O #)

a={{1, -3, 4, 5}, {2, 3, 4, -1}, {5, -5, 2, 3}, {-1, -2, 7, 6}};
Mat ri xFor m[a]

1 -3 4 5
2 3 4 -1
5 -5 2 3
-1 -2 7 6

al={a[[1]1], 2a[[1]]1-a[[2]], S5+a[[1l]]1-a[[31] al[[ll]+al[[4]1]};
Mat ri xFor m[al]

1 -3 4 5

0O -9 4 11

0 -10 18 22

0O -5 11 11



2 Sistemil.nb

a2 = {al[[1]1], al[[2]], 9+al[[3]] -10%al[[2]],

Mat ri xFor m[a2]

1 -3 4 5
0 -9 4 11
0 0 122 88
0 0 79 44

9xal[[4]] -5=*al[[2]]};



